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2. A helicopter pilot finds that with a tail wind a 120 km distance takes 45 

of the helicopter in s�ll air and the rate of the wind.
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3. A plane le� Montreal for Calgary, a distance of 3000 km, travelling at 

450 km/h. How long a�er take-off did the planes pass each other?
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4. A freight train and a passenger train are in sta�ons 540 km apart. The 

freight train leaves the sta�on at noon travelling at 60 km/h in the direc�on 

of the passenger train. One hour later, the passenger train leaves and heads 
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Homework

p.46 #7,8,17,18


